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a) 350

b) 280

c) 300

d) 320

Train A passes an electric pole in 15 seconds, moving at 60 kmh. It 

crosses train B moving in the opposite direction at 48 km/h, in 19 

seconds. What is the length (in m) of train B?

60 किमी/घंटा िी चाल से चल रही एि टे्रन A, एि किजली िे खंभे िो 15 सेिंड में 

पार िरती है। यह 48 किमी/घंटा िी चाल से किपरीत किशा में चल रही टे्रन B िो 19 

सेिंड में पार िरती है। टे्रन B िी लम्िाई (मीटर में) क्या है?
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b) 2 ∶ 3

c) 3 ∶ 2

d) 2 ∶ 1

The cost of 2 dozen bananas is Rs. 240 and the cost of 18 lemons is Rs. 

90. Find the ratio of the cost of 1 lemon to that of one banana.

2 िजजन िेलों िा मूल्य 240 रुपये है और 18 नींिू िा मूल्य 90 रुपये है। एि नींिू और 

एि िेले िे मूल्य िा अनुपात ज्ञात िीकजए।
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a) 69 ∶ 110

b) 70 ∶ 99

c) 67 ∶ 97

d) 77 ∶ 105

The ratio of train and bus fares from A to B is 3 ∶ 5. If the train fare is 

increased by 15% and bus fare is increased by 10%, then what will be 

the ratio of the new fares of train and bus?

A से B ति टे्रन और िस िे किराए िा अनुपात 3 : 5 है। यकि टे्रन िे किराए में 15% 

िी िकृि िी जाती है और िस िे किराए में 10% िी िकृि िी जाती है, तो टे्रन और 

िस िे नए किराए िा अनुपात क्या होगा?
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a) 24.6

b) 25.2

c) 22.8

d) 23.4

The average of 19 numbers is 24. The average of the first 8 numbers is 

26.5 and that of the last 12 numbers is 21.5. If the 8th number is 

excluded, then what will be the average (correct to one decimal point) of 

the remaining numbers?

19 संख्याओ ंिा औसत 24 है। पहली 8 संख्याओ ंिा औसत 26.5 है और अंकतम 12 

संख्याओ ंिा औसत 21.5 है। यकि 8िीं संख्या िो हटा किया जाए, तो शेष संख्याओ ं

िा औसत (एि िशमलि किंिु ति सही) क्या होगा?



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level
a) 9856 cm2

b) 9556 cm2

c) 9756 cm2

d) 9806 cm2

If the diameter of a sphere is 56 cm, then what is its surface area?

यकि एि गोले िा व्यास 56 सेमी है, तो उसिा पषृ्ठीय के्षत्रफल क्या होगा?
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a) 18,000

b) 36,000

c) 72,000

d) 27,000

Sunderlal distributed his savings of Rs. 1,62,000 among his wife, 3 sons and a 

daughter in such a way that his wife gets double of what his daughter gets and 

his daughter gets double of what each of his sons get. How much will his 

daughter get?

सुंिरलाल ने अपनी 1,62,000 रुपये िी िचत िो अपनी पत्नी, 3 िेटों और एि िेटी में इस 

प्रिार किभाकजत किया कि उनिी पत्नी िो िेटी िी तुलना में िो गुनी धनराकश कमली और 

उनिी िेटी िो उनिे प्रत्येि िेटे िे कहस्से में आई धनराकश िी िो गुनी धनराकश कमली। उनिी 

िेटी िो कितनी धनराकश कमली?
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a) 28,250

b) 31,500

c) 30,000

d) 27,000

A shopkeeper gives 17% discount on the discounted price after giving an 

initial discount of 12% on the marked price of a refrigerator. If the final sale 

price is Rs. 21,912, the marked price (in Rs.) is: 

एि िुिानिार एि रेकिजरेटर िे अंकित मूल्य पर 12% िी प्रारंकभि छूट िेने िे िाि ररयायती 

मूल्य पर 17% िी छूट िेता है। यकि अंकतम किक्रय मूल्य 21,912 रुपये है, तो अंकित मूल्य 

(रुपये में) क्या है?
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a) 1,120

b) 1,020

c) 1,050

d) 980

A calculates his profit percentage on the selling price of an article, whereas B calculates 

his profit on the cost price of the same article. The selling price of both of them is the 

same and both get 40% profit. If the difference between their profits is Rs. 120, then the 

selling price (in Rs.) of the article is:

A एि िस्तु िे किक्रय मूल्य पर अपने लाभ प्रकतशत िी गणना िरता है, जिकि B उसी िस्तु िे क्रय मूल्य 

पर अपने लाभ िी गणना िरता है। उन िोनों िा किक्रय मूल्य समान है और िोनों िो 40% िा लाभ प्राप्त 

होता है। यकि उनिे लाभ िे िीच िा अंतर 120 रुपये है, तो िस्तु िा किक्रय मूल्य (रुपये में) क्या है?
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a) −1 2/3

b) −4/9

c) -4 

d) -7

simplify the following expression.

कनम्नकलकखत व्यंजि िो सरल िीकजए।

2 ÷ [(-6) ÷ 2 × 3] × 3 - 1
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